Generator file information: 106452 physsim-tth-6g-hbb

process_id=106452
job_date_time=120730-135018-GMT+0900
process_name=physsim-tth-6g-hbb
process_type=physsim-tth-6q-hbb
CM_energy_in_GeV=1000.0000
program_name_version=physsim_dbd-01-01
pythia_version=6.422

stdhep_version=5-06-01
0S_version_build=2.6.18-164.el5;x86_64/GNU/Linux
0S_version_run=2.6.18-164.el5;x86_64/GNU/Linux
libc_version=glibc-2.5-58.e15_6.2.x86_64
fortran_version=gfortran-4.4.0.20090414
hadronisation_tune=0PAL

tau_decay=tauola

beam_particle1=e1

beam_particle2=E1

polarization1=R

polarization2=L

luminosity=73043.9563443415
cross_section_in_fb=0.69800436
cross_section_error_in_fb=0.000195164012
lumi_linker_number=18

machine_configuration=B1b_ws

file_type=stdhep24

total_number_of_events=50985

number_of files=6
file_names=E1000-B1b_ws.Ptth-6g-hbb.eR.pL.Gphyssim_dbd-01-01.1106452.001.stdhep;E1000-B1b_ws.Ptth-6q-hbb.eR.pL.Gphyssim_dbd-01-01.1106:
number_of_events_in_files=9038;9011;9021;9029;9040;5861
fileurl=lfn:/gridfilc/prod/ilc/mc-dbd/generated/1000-B1b_ws/tth
logurl=http:/iwww-jlc.kek.jp/~miyamoto/CDS/1000-B1b_ws/run_output/E1000-B1b_ws.Ptth-6q-hbb.eR.pL.Gphyssim_dbd-01-01.1106452
hiadds mass=125 0



Particle IO : 106452 physsim-tth-Eq-hbb

h_id

Eneries 1860917

Particle Emergy : 106452 physsim-tth-6q-hbkb

h_a

Maamn 13.64
RS 437.7
10°
10°
4
1{'_ |IIII|III III|IIII|I
2000 000 1] 1000 2000
Particle ID
h_cs

Particle cosd | 106452 physsim-tth-6q-hbb

Enaries 18680917

Particle Pt : 106452 physsim-tth-Gg-hbb

h_pt

Ensrs 1860017

Moan 0001224

Enaries 1860917

RMS 05024
(A T T T T T T T T Y O O A
-1 .5 1] 0.5 1
cosd

| Bloamn 1.4i64
‘HJEA‘ RS T.07H
10°
10°
10°F
10°
‘HJE—
'k all
JETRI NNl NN AR 1 ||_|||_|Iﬂ||
1] 50 100 150 200 250 300
Pt{GeaV)
h_wz

Start point Z : 106452 physsim-tth-Bg-hbb

- Mean 46825
10° B NS 8.718
10°
10°
10 F
10°

‘HJE—
1
=|||||||||||||||||||||||||||||||||||ﬂ|]1
0 50 100 150 200 250 300 350
Enargy[GaV)
Start point R : 106452 physsim-tth-6q-hbb h_wr
Entries 1860917
F Mgan 4.1
RAS 35.43
10°
10°

—
=
=
T T 1T

10

= =
ka
T |||||I'I'| T |||||I'I'|

gl el ||||"|||]||"||||||||||||||||||||

1]

1000 2000 3000 4000 5000 6000 T0O00 BOOO
Start point Radius

10

10

10*

10

10°

10

1I|||||||||||||”|||"| ti i ||||||]||||

Enaries 1860017

Moan  -DAZ952

73T

J RS

T |||||rl'|

LI ||||I'I'| LI IIIIIII LI IIIIIII

-120000006800060004000:2000 O 200040006000

Start point




Total Energy {inc. v )z 1084582 physsim-tth-Gg-hbb

h_etot

10

10°

10

Enaraes 3033
Muamn 952.T

RS £6.09

Total Energy (ne. v ): 108482 physsim-tth-Sg-hbb

&00 T00 800 SO0

1000

Total Energy(GaV)

Pt Sum: 106452 physsim-tth-6q-hbb

h_pt

h_etotc

10

10°

10

Enarues 9033
Mlzam 352.7

FlES E6.09

10

10

[ 3033
Maoamn .62
RS 30.51

600 700 800 900 1000
Total Energy(GeV)
Pz Sum: 106452 physsim-tth-6g-hbb h_pz

0 100 200

gl ML,

Ptzum) [GeV)

10

10

[ 9033
Moan  -DA4EZE
Al E6.46

AL

-400 -300 -200 100 O

100 200 300 400

Pz{sum) [Ga¥)

Total Energy {wic v ): 108452 physsim-tth-6g-hbb h_evis
Emaries 9033
E Mean HET
C RMS T2.61
[ 1
10°
10 -
1
:||HH ||||||||||||||I||||||
500 00 TOO BOO S00 1000
Enargy(GaV)
Thrust 106452 physsim-tth-6g-hbb h_thrust
Emnarhes 9433
F Maan BLYT35
350 - RMS  0.07408
300 [
250 [
200 [
150 [-
100 -
50
o Lttty HENEEEE NN RN LN
0.4 0.5 0.6 0.7 0.8 0.9
Thrust




Mo, of Changad panticks

- 108452 phyyasim-1lh-Bg-hibh

h_nchg

500

400

300

200

100

1]

Enariss 9033

Muamn 35.86

Ll RS 15.38

He. of Gamma : 106452 physsim-tth-Gg-hbb h_ngam

40 60

80

100 120 140 160 180
Mo. of charged particles

[Total charged energy - 106462 physsim-tth-8q-hbb

h_echg

Enaries 9033

]- FlES 18.52

400

350

300

250

200

150

100

I| I|III|III|III|III| 11 IJ.JII
40 &0 80 100 120 140 160 180
Mo. of gamma

300

250

200

150

100

[ 3033

Maoamn 5683

RS B85.35

Total gamma energy : 108452 physsim-tth-Bg-hbb h_egam

200 300

400

500 600 TO0D BOD 900
Total charged energy [(GeV)

[ 9033

Maan TN

400

Al T8.68

350

300

250

200

150

100

ettt berrr brrea bl ddiaals
100 200 300 400 500 00 TOO
Total gamma energy [(GeV)

Mo, of Hadwonic partickes - 106452 physsim-tih-6q-hibh

h_nhad

1200 -

1000

800 -

600

400 -

200

Enaries 9033
Mz g.2a2
] 3.174

oLl H”HnnLLLL.

1] 5 10 15

25

Mo. of hadronic particles

Total hadronic enengy ;106452 phys=sim-tth=i5-hbkb

h_ehad

450

400

350

300

250

200

150

100

50

Enaries 9033
Maan B0.35
RS 47.8

Du 50 100 150 200 250 300 350 400 450
Total gamma energy [(GeV)




cos Othrust) 106452 physsim-tth-6g-hbb

h_csth

180

160

140

120

100

5B & 2 B

(=]

Enaraes 9033
Muoan <DSE154

RS 1633

oy
S
n
=

enargy for 2-jets -106452 physslm-tth-6g-hbk

h_j0e

1400 -

1200

1000

400

200 -

uﬂ 100 200

Ensriks 18066
Maoamn 432.8
RS 156.4

300 400 500 600 700 BOO

Jet energy (GeV)

Ma. jets (yout=0.001] : 106452 physsim-ith-Eg-hbb

h_njets

Enaries 9033

Youl for 2-Jets -106452 physsaim-tth-6g-hbb

- Mean 8.352
3500 RMS 1076
3000 [

2500 [
2000 [
1500 [
1000 |-
500 [

u_IJ.I"I |l||||||||[||l|||||

B B 10 14
No. of jets
cos il for 2-jets 106452 physsim-tth-Gg-hbb h_jlcs

h_yec2j

Enaries 9033

| Mz 22082
| AN 32465
500 —
400 —
300 —
200 —
100
u-l 1 1 | 1 1Ll | | IJ Ll | 1 1
1} 0.2 0.4 0.6 0.8 1

yeut for forced 2-jets

1800

1600

1400

1200

1000

800

600

400

200

Enaries 18066
Moan  0.07GE
Al QLETE3

Jet mass for forced 2<ats @ 106452 physsimSih-Eghibh

h_jomjim

Enaries 9033

Moans 3624

] Meany  260.3
%ﬂn RMSy 2677
E FMSy 1587
500
400
300
200
100
0 AR L
(RN N T T T T N I T O
200 400 a00 800 1000

Mass(jet1)




Yeul for 4-jets 106452 physsim-tth-6q-hbky

h_yecdj

Enars

10

10°

10

—
[

9033
3.02825
B.03T2E

Jet energies{All pts)106452 physsim-tth-6q-hbb

AL

0 o005 0414 045 02

025 03 0

yeout for forced 4-jets

35

2jets mass{ill comby1 06452 physsim-tth-fig-hbb

10

10°

ha_mo1
Emaras 54108
Mlaamn 356.4
RS 155.8

0 100 200 300 400 500 600 700 800 900
M(J J,) (GeV)

ha_j0e

Emarms 18132
Mlzam 2276

FlES M

Jet cos i (All jeta) 106452 physsim-tth-6g-hbb

ha_jlcs

1]

100

200

300

400

500
E{Jet)

10

Emaries 18132
Mz 2.0&8001
] 3.6366

-1 0.5 1]

0.5

1
cos




